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Remark: · To develop an efficient numerical spectral method,

we need to compute Aw and fast.
· Computational cost for Aw is OCU).
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Goal : Reduce the computational cost to P(nlogn)
e . g. h = 2

,
n

2 = 220
, nlogn = 10 . 2" < 214i. 26 = 64 times faster !
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Remark: Comp .
cost : 0(m2) + O (m) (m multiplication

(SS m addition
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O(m2) m subtraction

Remark : If n is even,
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It we choose n = 20
,

then the
above procedure can be

carried out,

Next time : with the above procedure , comp
cost

O(nlogn)


